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Sukka 31

Intro

Today we will 7"valearn n 97 of 1210 'on

Some of the topics we will learn about include the following:

The status of a stolen 71970 - may it be used?

When must a thief return a stolen object, and when does he only
repay its value.

Do a 1Y and 70X need to be 777 according to M 3?7

Adding or subtracting from the four species

Some of the key terms and concepts we will learn about
include:

W mipn - the enactment regarding a stolen crossbeam.

If someone stole a crossbeam and built it into a structure, he
does not have to demolish the building in order to return it, he
only has to pay its value. This was enacted to make n21wn
easier. This leniency was extended even to a Sukkah, in which
removing the beam would be less costly.

Wi - A comparison within a ;os.
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. 90N 51 - The prohibition against adding to a mzmn

w5 13wn 13Ra 977 - That lives on its tree from year to year.
The poo that teaches that the 2170 is the fruit we need for the
Mitzvah uses the word 770. It can be translated as beauty, or it

can be translated as that lives, because 77 is the root of the word :] ’ D’n :
lives. The i could be understood as a prefix, and not part of the

actual word for beauty.

j[&’p 272

3')/8/ yg/‘/

YW NN MnD - It's measurement is considered pulverized.
The four species must be a certain length. If one of them must
be burned, they are considered less than the requisite size, even
while they are still whole, and are invalid for the mx».
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So let's review...

This Daf begins with a discussion about a stolen 0:
D377 MW 20N 1713 190 7'
YW oo Ho10 MR

A stolen Sukkah, or a Sukkah built in the public domain - which

"1 says is also considered stolen, since it was built on land
belonging to the public - are %109 according to 7158 '3, and
Kosher according to the oom.

1pm3 a7 clarifies;

MR NI 1AM DR G7NWA NPIvAn

This Machlokes is only in a case where he forcibly removed
another person from his Sukkah, and now wants to use it
himself.

71’5R "7 holds the Sukkah is Posul, because

17720 5w 1N2102 1NN T RV OTR PR -

A person cannot fulfill his obligation with someone else’s
Sukkah.

Regardless whether he holds

511 YR, land can be stolen, and this is a 75w 1910, or if he
holds

5w AR YRIp, land cannot be stolen, and this is a myRw 10 -
In either case, the Sukkah is not his.

The o»on hold the Sukkah is Kosher, because

17720 5w 1N2102 1020 7T KXY DR -

A person CAN fulfill his obligation with someone else’s
Sukkah - AND, since they hold n5ti 7R v, this is a 7010
RY.

1127001 D3Y S Har

D3V BT ROR 12 PR HO1 737

However, in a case where he stole wood and made a Sukkah
from it, everyone agrees that he only has to pay back the value
of'the wood, and the Sukkabh is his.

Rashi gives two reasons:

-1- DV PV VN MPVINBPT

He acquires it based on physical change, or name change.

-2- DIV NIPN DN -

As the Gemara next teaches;

T RNSOLPT RNV R

RIIPN 1327 795 72D

WIn MIPN DN

If someone stole a crossbeam and built it into a structure, he
does not have to demolish the building in order to return it, he
only has to pay its value. This was enacted to make n1wn
easier.

This leniency was extended even to a Sukkah, in which
removing the beam would be less costly.

The x5 adds that after Sukkos, when he dismantles the
Sukkah, the beam must be returned to the owner as is, unless it
was cemented in to the Sukkah.
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‘ The x 12 next begins discussing a dry 25:

The Mishnah said; Ad 1Yy b))
5109 WM -

'3’)/@‘/

510D a0

@a/ D//

The Gemara cites a Braisa that this is actually a Machlokes:

PWIN AT 127 9100 W RIN 4

R17 explains that the Machlokes is based on the following: )

The Posuk says; ‘71D5 w:
5372991 MY PY 901 D00 M9 I77 7Y 779 PRI 02 02b onnph Y9N MY A
These phrases refer to the »» 27X - The Four Species, known N2 exp lains

as;

MY DO77 299 NINR -
1PV 977597727 N2 -

'“;‘w‘f»z\’ﬂ'n ora :1:17 nnﬂ"p’m

o

o

s map

All agree that the Esrog must be 777 - beautiful, since the word
770 is written regarding the Esrog - 977y 9.

ALL AGREE

Esrog must be Y1
The Machlokes is regarding the 2915, and the others:
20 1277 i B5H >
NINRS AN PUPn , T}p 2
TV NINR D '
7702 299 9R i MACHLOKES
The 1327 hold %100 w2, because we make a W', a comparison, \ Re gﬂ}"dln g the Jb)b ,
of the 255 to the 170K, and the Lulav must also be 777. ) ;
D s and the others
MRS 255 rwpn RS

77 27 holds that qw> w2, because we do not make the w1,
and the 25> need not be 777.

AT 29 1329
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The X presents 2 rulings of 777 729, which seem to indicate
that he does require the 295 to be 7771 - and answers that they are
based on other reasons.

- ] -

W YHY 1770]

oY NN IR AT 027

If the leaves of the Lulav are spread apart, the Tana Kamma
holds it is Kosher, and R’ Y ehuda holds he must tie them
together, otherwise it is Posul.

The X2 explains that R’ Yehuda's reasoning is not because of
777, but because

omn mod, which literally means branches of the palm, can also
be read as

mod (kafus) - tied up - to teach

1IN 719 70 DR - if it was spread apart, you should tie it up.

-2-

112 ROR AN DR PIIR PR

AT 727727

R’ Yehuda holds that we must bind the species together only
with its own kind, such as pieces of 2515 or 077, or M.

The X2 explains that R’ Yehuda's reasoning is not because of
777, but because he holds TR 773 2915 - the 295 bundle must be
bound together, and if some other species was used to bind
them, it would be adding a fifth species.

As part of this discussion the Gemara cited a Braisa which
teaches;

T PIMO PRY 0w

THY POOM PR I

Just like we may not use less than these four species, we may
not add to them either. Although this seems obvious because
adding to them would be a transgression of 9o1n 53,
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we might have thought that since 717 7 holds TR 73 2915, if
this additional species was not bound with the others it would
not be a problem, the Xn»91 teaches us otherwise.

The xn™a also teaches;

MR 927 R TR WD RY R KD NINR R3D RS

If you don't have an Esrog you cannot replace it with anything
else - and that also seems obvious. The X3 explains that we
might have thought it is okay to use something else

MINR NN N5WN ROW 2703, in order that the Mitzvah of nx
not be forgotten. The Xn»1a teaches us otherwise, because
7015 MIRT PP RINA 017 P, it can result in harm - people

might think that this is acceptable even when you have an 3170,

The X2 now refutes X27's opinion that 777 '3 requires at least
the 190K to be 777 - from an explicit Xn»72:

5109 JOANINR W'D

PWIL AT AN

The Tanna Kamma says that an old 30 is 5109, but 7777 729
says it is wo.

An old »nxis certainly dried out, and not 377, and 7 "2 still
says it is valid.

DafHachaim.org
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R’ Yehuda interprets the word 171 as;

WY mwn NYR1 3T,

The »nxis a fruit that lives on its tree from year to year, as
opposed to other fruits that fall off at the end of one season.

The X2 then presents 3 rulings of 777 °27, which seem to
indicate that he does require the )0 to be 971 - and answers
that they are based on other reasons.

-]-

T P

PWID PRN 2T

5010 AT 73

R’ Yehuda disqualifies a very green Esrog - Not because of 171
- but

R7D W3 RYT DWN

Ifitis so green, it is not fully grown, and is not considered a 79 -
a fruit.

-2-

TOP MINR MW

TR IR PR 1)

%720 IR AT 27

The minimum size for an 37N to be Kosher is a walnut,
according to R» 19, and an egg, according to 17 °27. Not
because of 9771 - but

RO I3 N7 DD

Ifitis so small, it is not fully grown, and not considered a »9.

DafHachaim.org
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payphi

AT 7277927 AR T DIW DARW T

YT NW TARIPOR IR O 117

777 °27 holds that he maximum size of an Esrog is to be able to
hold two Esrogim in one hand. "oy *27 holds it may be as large to
need two hands to hold it.

Apparently, 7777 *21 holds that an oversized Esrog is not 7777?

However, the Gemara gives a different reason.

SRIDWA NINRI P2 3N -

The 155 bundle must be held in the right hand, and the »7nx in
the left hand. Sometimes they may have been switched, and in
the repositioning, if the 1InR is too large, it might be dropped,
and become Posul.

The X continues to explain our 7w at the beginning of the
Perek:

5100 NNTIN Y YW ATWR Hw

A 25 from an Asheira tree, or from a tree of an Ir Hanidachas,
is hoo.

The Gemara asks;

5107 RS 7Y S 2515 K17 RN

WO SVION

Rava says that, of course, one should not use such a Lulav, but if
he did, he was x3v.
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The Gemara answers;

JPPOY WNT IR R

PIYW NN MINDT

The Mishnah is speaking of the time of nw», when the 77 says
that all 79WR trees that were found in 5X7w’ yIX when it was
conquered, are not only X372 MOR, but must be burned.
Therefore, as Rashi explains, based on the principle of

MT PIWVI YIS TR -

That which is meant to be burned is Halachically considered as
if it is burnt, the measurement of this Lulav is considered
pulverized, and no longer has the required m1°w, and is therefore
Posul.

Rava, however, is speaking of later times, when an 77WR is
merely X372 MOR, but need not be burned, and, as Rashi
explains, based on

NI TIPS RS INRD

PN DRI IO OV PR TN

1275 72V N7V ROXR

Fulfilling a Mitzvah is not considered a k17, and he is therefore
RXY,
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